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100 15 15 70
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99 15 14 70 7
99 15 14 70 8
98 15 15 68 9
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100 15 15 0
100 15 15 70 -
100 15 15 70 ’
100 15 15 70 >
100 15 15 70 :
99 15 14 70 -
99 15 14 70 -
98 15 15 68 !
95 14 14 o7 :




Ly bgedl dnon

55_3.‘\ = QLA\_%J‘ 2\.!._:.533

Ot lanlt @3S Oy Albsad Duilgid! Dl

[Ji2s] P el

gaened| | Sgalt jurg JOAL | dipald| A2y | Bdad! Az Tnsiand it | e p
100 15 15 70
100 15 15 70 -
100 15 15 70 ’
100 15 15 70 ’
100 15 15 70 ’
100 15 15 70 °
90 13 12 65 6
89 12 12 65 ’
50 10 10 30 8
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100 15 15 70
99 15 15 69 1
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99 15 15 69 3
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92 13 14 0> -
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